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17U/116/20(Set-3)
No. of Questions : 200
wT @Y Y : 200
Time : 21 Hours ] [ Full Marks : 600
T 21 e [ quIfF: 600

Note: (i) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

Hﬁﬁrﬁ}mmaﬁﬁ?ﬁﬁwwaﬁﬁmwﬁmmsﬁﬂﬂm'ﬁm?l
mmmma“fa?wwmmfma@ﬁammm
™ BRI

(1) 1f more than one alternative answers seem to be approximate to the
correct answer, chaose the closest one.

Hﬁwﬁdﬂr&?ﬁmﬁrﬂﬂﬁaﬂﬁ$ﬁwﬁaﬁ,ﬁ%ﬁﬁm'ﬂawil

(i) This paper comprises of four Sections : Mental Abil; ty and General
Awareness, Chemistry, Physics and Biology (Botany and Zoology). Each
Section contains 50 questions.

Wﬁﬁ-ﬂ'ﬂ'ﬁwwﬁrﬂﬁfﬁmﬁanﬁmm E R,
%memﬁm@wﬁﬁmﬁﬁaﬁhmﬂﬁmﬁsnwﬁl

SECTION - |
g -
(MENTAL ABILITY AND GENERAL AWARENESS)
TR T g e S )
1. 34is related to 12 in the same way as 39 is related to
(1) 45 (2) 38 (3) 26 @ 14
34 & @ 129 O WeR T I 5 59 a7 wrgey &
(1) 458 (2) 384 ' (3) 26w @) 14%
.

P.To.
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2. Which of the following is most energy-efficient source of light ?

(1) Tubelight  (2) CFL (3) LED (4) Tungsten Bulb
P o B g § wed Sul-wdard wd 8
(1) gg9 & (2) o Who Telo  (3) U0 S0 Fo  (4) T Fed

3. A girilfacing north rotates 100 degree clockwise then 190 degree anticlockwise.
What is new direction of the girl ?

(1} North-East (2) West
(3) South-West (4) South
T wedt B HE SR w @ ek ¥ a8 a8 @ gE B IR 100 B R R
R g o o E B s R @ ok 190 R wh }) o w1 IF S

e § & 7
(1) SER-GE @ o (2) ofgd @ &R
(3) wfrr-afdem @ AN (4) R DY R

4. in the following chart given characters follow a certain trend, row-wise or
column-wise, Find out the missing character (7) accordingly :

ﬂﬁﬁﬁwﬂaﬁﬁmﬁﬁmWﬁﬁﬂnﬂﬁrﬁrﬁﬁwﬁﬁ?ﬁ'm%asﬁ
Wémeﬂw a«—ﬂiﬁ{?)_fﬁww'&mﬁml

A D H
— -

[ M
| ? | N R
(1) K {2) N (3 O 4y I

5. The difference between cow’s milk and buffalo mitk is that

(1) Milk of cow is white but buffalo milk in yellowish in colour.

(2) Milk of cow is yellowish but bullalo milk is white in colour.

(3) Milk of cow is yellowish in colour but it contain more fat than bufffalo milk.

(4) Milk of cow is white in colour but it contain low amount of fat than buffalo

milk.

nmzﬁﬁlaﬂ?ﬁﬂ?ﬁqaﬁ%ﬂ:mﬁﬂﬁrﬁ’?ﬁ%t

() g @ qF B 6T AT U G g @1 < Ao A B 6

(2) T a1 gy e ferm X & et A ﬁ@@ﬁmmgl

3) I ST fory B ¥ R geR oF A A @ g el gl B |

7 B B TS ?‘T'ﬁ?m%_?!mrgﬂﬁﬂﬂfﬁ e R S i R B U

(2)
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Which of the foliowing crop is not utilized for commercial production of edible

oil ?

(1) Wheat (2) Rice (3) Sunflower (4) Maize
1 & Bl waer AEaRE W R e § S S oy wge T8 el 8 ?
(1) " (2) == (3) ey (4)
Find out value of ? in following :
fet % 2 1 5 T AT 7
12:30::14:7
(1) 30 (2) 28 (3) 35 (4) 42

Which one will replace the guestion mark (?) 7
ﬁmﬁmﬁﬁs{? & WM R aar 2T ?

(1) 36 (2) 48 (4) 30

Which among the following SAARC nations did not figure in the "World
Happiness Report 2017 ?

(1) Pakistan () Bhutan  (3) Afghanistan  (4) Maldives
o g ® O A e e aes Euiery R - 20170 § A & 7
(1) i @) R . (@) TR (4) W

Who is the author of the book "Winning Like Virat : Think and Succeed like
Kohli" ?

{1) Uday Mahurkar (2) Abhirup Bhattacharya

(3) Rajesh Jain | @) Awvind Adiga

gwTe T @gw fawe : RiF e wadts ane dee @ ows g @ 0
(1) e A () o st

3) T (9) 3R s

3
(3) P.T.0.
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11. At which of the following place union cabinet of India has approved to
establish a centre of International Rice Research Institute ?
(1} NOIDA (2} Kanpur {3} Varanasi (4) Pantnagar
M & T Affdee 7 M F 9w W OCaRRTE g my W (IRRD)
T &7 T rerger A A /e A E?

(1) =wer (2) FFR (3) aTaToTEt (4) TR
12, Which country will host next Champions Trophy in 2021 7

(1) SriLanka (2) Australia (3) Bangladesh (4) India

2021 # B g AftgE=g BT - 2021 T s B few 2w ¥ @ 2

(1) e 2y s (3) Frer2w (4) WD
13. Which is the first state in Ithe couniry to oper a Blood Bank for Cattle 7

(1) Goa (2) Kerala

(3} Odisha (4} Andhra Pradesh

e ¥ e wier v # o vyl @ o we e @ w2

(1) M (2) B

{3y anfewm (4) T waw
14. Cause of AIDS is :

(1) Bacteria (2) Fungi (3} Virus (4) Amoeba

(SH BT FHI &

(1) s (2) wE (3) argwd (4) anfan
15. To make curd which microorganism is used ?

{1) Acetobacter (2} Leukonostoc (3) Bacillus {4) Lactobacillus

=8 v A PrfaRen § 9 el @ s fean G @ 7

(1) Uherader (2) gBHEREE (3) dfHeE (1) oEcHiEey
16. From the following which makes milk sour ?

(1) Protozoa {2) Bacteria (3} Virus (4} Nematod

R # 9 fred gra qn wm a1 B ¢

(1) e (2) FFARaT (3) TmeH (4) FreE

17. Gobar Gas mainly consist of :
[1} MEthﬂnE {2} Ethelene

(3} Acefelene (ﬂt} Carbon Monoxide

(4)
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18.
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e | # g @ L
(1) fadm (2) R
(3) TfRem {4) F1E7 A ATTES

Bj,r which constitutional Amendment Act Fundamental Duties are incorporated
in constitution ?

(1) 42nd Constitutional Amendment Act, 1976

(2) 43rd Constitutional Amendment Act, 1977

(3) 44th Constitutional Amendment Act, 1978

(4) 45th Constitutional Amendment Act, 1980

R S S P g R g sdet B wif fr mar @ 2
(1) 4241 e weinm sRfEm, 1976

(2) 4391 WP weies aRfE, 1977

(3) 447t wdunfys Eviee affem, 1978

(4) 4541 TWarfre serm wffw, 1980

When joint meeting of Lok Sabha and Rajya Sabha are being held ?
(1) When President calls

(2) When there is opinion difference in Lok Sabha & Rajya Sabha
(3) When Parliament Session begins

(4) None of these

G T TR &) I ASE g 2l £ 7

(1) wrseafe o gemg

(2) WP TE TouE # AT BN gy

@B FREHTWIFTETR .

(4) 57 & o

Presidential election is controlled by :

(1) Lok Sabha Speaker (2) Prime Minister

3) Election Comnmission 4) Minister of Parfiarm

- | &) Minister o aﬂmm&iﬂfj’ Affairs

(5)
. PTo.
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21.

22.

23.

24,

25,

26.

IRy 9E 1 g e [T e ©

(1) erFeEmze 5N (2) WEFTHAT T

(3) Fatem amam g (4) EwS Ama @ 74 5W
"Entrance of Asia" is:

(1) Saudi Arab (2) Taiwan {3} Turkey {(4) Japan
TR B Ty g hEe E

(1) g% sm@ (2) TEAH (3) el (4) ST
Which country is known as the 'Land of white elephants’ ?

(1) Laos {2) Thailand (3) Kenya (4) Myanmar
s 2w ot i el @ qfy & T ¥ T A 7

(1y =i (2) argers (3) @i (4) AR

In Computer Language, how many bytes are in one megabyte ?

TR B W A vE FEige § e dige g9 8 7

(1) 1,00.000 . (2) 10,00,000 (3) 10,24,000 (4) 10,48,576
Which one is not correctly match ?

(1) Darjeeling-West Bengal (2) Mount Abu - Rajasthan

(3) Kodaikanal-Tamil Nadu (4) Shimla-Uttar Pradesh

(1) wififeim — 9o T (2) TEVE 3lTg, - TR

(3) DrEEEAE - dFaATg (4) Rrer - SR weE

Which country is known as 'India of Europe”?

(1) Spamn (2) France (3) Italy (4} Portugal
'!ﬁmfﬁrw‘f‘nﬂm#fﬂwﬁﬂtﬂdim%?

(1) &= (2) Wi (3) el (4) TR

Find out the average marks scored by 3 students together, if in an examination
gaumva scored 40% marks, Raju scored 80% marks and Riya scored 624 marks

and the raaximum marks are 810 : |

ﬁﬂwmquﬁmmﬁmaﬁwnﬁmﬁwfwm @
:;TEI’ fl’ﬁﬁ l?ﬁﬁﬁ{}%:mﬁ ot frar & 624 8 S [ el e e 8O0 E ¢
) 50 ) 528 ) &3 @ 510

(6)
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28.

31.

32.
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If a train of 200 m long running at 60 km/hr then how many seconds will it
lake to cross another train of 300 m long running in opposite direction at a
speed of 90 km/hr ?

(1) 8 sec. (2) 14 sec. {3) 9 sec. (4} 12sec.

TS AW W 200 Ho wAll # oM 60 FHo/HE A wER F e B 7 gwA
NAET S 300 Mo ol @ wor R fem ¥ 00 Fre/ER o @ e B &
OR &

(1) 890 (2) 149 (3) 9% (4) 12 %0
IC chips in Computer are made of ; |

(1) Lead (2} Silicon (3) Chromium (4) Gold
FEER | PR B el IC Ry e o O # 0

(1) (2) Raferats (3) Fifrm (4) &
Which of the following is not a language of Computer Programming ?
(1) WINDOWS (2} PASCAL (3) BASIC (4) COBOL
s 3 R B e st o wre R R

(1) s (2) TR (3) R (4) PR
The planet which is closest to the earth is :

(1) Mercury (2) Mars (3} Neptune (4) Venus
T TR o ot B wad Tl 2 8

1) g (2) s (3) e (4) g

lf NQXG means LOVE, then EEMG means :
ot NQXG &1 aiff LOVE 2, @ ECMG 7 i vy -
(1) CALF (2) GOOP (3) CAKE (4) CALM

Find the odd one from the following ;
e & @ 9We BT gem TmEy o
(1) 16 (2) 80 (3) 64 (4) 3¢
i d d . 5 y % GS L 2 :
E:EE ?wl’uch date Goods an | Sﬂwim Tax ( T) has hEEﬂI lmPEEHIEnI-ed ,
(1) 1April, 2017 () 1May, 2017 (3) 1June, 20 (4
e % Fa ol & R ¥ VR (Aovetodto) T Boar g 5 I, 2017
N 1w 2007 ) 1 2017 (3) 197 2017 @
. 7) | T 017

PTo.
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34.

35.

36,

37.

38, 1i rd DeCe

In India, Shr! Ram Nath Kovind has been elected as:

(1) 12th President (2) 13th President (3) 14th President (4) 15th President
WG H, N T B &) g T

(1) 1297 weeafy () 13« wmgefd (3) 4o ospufd (4) 15&0 Irgofe

The Union Budget 2017-18 was presented in Parliament of India by :

(1) Shri Arun Jaitley (2) Shri P. Cnidambaram
{3) Shri Manmohan Singh {4} Shri Narendra Modi
T qare 2017-18 fre g widra wE ¥ O fhar TE 7

(1) @ey deoh (2) % Go e

(3) # wemEs fiig (4) # T wE)

In a class of 60 students, the number of girls is twice that of boys. Kamal, a boy,
ranked seventeenth from the top. If there are % girls ahead of Kamal, the
nuwmnber of boys in rank after him is:
ﬁuwﬁwﬁ,ﬂsﬁﬁﬁﬁﬂﬁmﬁﬁgﬂ%tw.ﬁﬁmg g
& waved wra W 2 Al A vt one O wue & o 3@ o A S A%
wSHhi W HE B

(1) 3 FhgES (3) 12 (4) 13

A class starts at 11 : 00 am and lasts till 2.27 pm. Four periods of equal duration
are held during this interval. After every period, a rest of 5 minutes is given to
the students. Thus, the exact duration of each period is:

(1) 48 rmunutes {2) 30 minutes (3) 51 minutes (4) 53 minutes
o BV 00 & A TRy B 2 99ER 27 A 99 Tel ¥ | ¥ RN
3 e ¥ & R g g ¥ e T & o BrAr 31 5 e @ Ry
m[W[%.IWwJWHﬁ%ﬂﬂFﬁﬁm%?

(n 48 AT (2) 50 B (3) K1 feE {4'} R3 e

mber, 1990 15 Sunday, what day !5 3rd January, 1991 2
2} Wednesda (3) Thursday (4) Friday
day y y
1) Tues oo @R 2, a3 e, 1991 -1 R 8 7
s iﬂ’ﬁﬁ (2) R (3) TR (4) e
l‘l.:l 48

(8)
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40.

11,

42.
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Pointing to an old man Sohan said, "His son is my son's uncle”, How is the old
man related to Sohan ?

(1) Father (2) Grandfather

{3) Brother (4) None of these

UT §¢ e Bt 3R 3 I g Hed @ & et oed W e o A
&!" 4% qoT Al WieT § e nen vy 2 7

(1) T (2) 3m=ET

(3) g (4) o W g9 q A

World Population Day is observed on ;

(1} June5 (2) July 11 (3} October 4 (4) December 10
g o g T aE b

(1) S5 (2) g1l A (3) FwER4 W (4) REWIOD
The largest Indian State by area is :

(1) Madhya Pradesh (2) Maharashtra

(3} Uttar Pradesh {4) Rajasthan

AT B ATHR IR BT e 79T Iy &

{1} =a niw (2) #WERTS

(3) =R wewr (4) <TOR®

NNP is equal to :

{1} GNP + Depreciation (2) GNP - Depreciation

(3) GNP + Exports (4) GNP - Exports

T O O TR AT R -

(1) < o7 §f + gRd 2) N d-zg

(3) < T G+ Pt (4) off TF e

Industrial Revolution started it Bngland in :

(1) 16thcentury  (2) 18th cinmhu}r (3) 17thcentury  (4) 154, century

grdvg F el wify wrm g )

(1) 168w A 2) 1BH IRy () 178 G A g
= G

)lgﬁwﬁ

P.T.0.
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44,

45,

48.

47.

48.

49.

50.

The highest literate state of [ndia is

{1} Mizoram (2) oa (3) Tripura {4) Kerala
TS k| Faied Ffeg ey
(1) fasiivg (2) v (3) By (4) &=

How many states are there in India ?
e ¥ e o # 7

(1) 29 (2) 27 (3) 28 (4) 25
What should come next in the following letler sequence ?

= et & d et @ erm ?

AABABCABCDABCDEABCD

(A 2 E 3 C 4 B

Which word will come in the middle if all of following are arranged
ﬂlphabtlicaﬂj{ as in the L;*nBIihh di'.:lin.mar:r T

T A Ry T el & T B A wed d9 B vt § exafiud T o
1 BT e ey F I ?

Donkey, Donator, Donjon, Donate, Donative

(1) Donkey (2) Donator (3) Donjon (4) Donative
Foday is Monday, atter 61 days it will be:

(1) Tuesday (2) Monday (3) Sunday (4) Saturday
fy arst dWar & a1 ol A @ a” @-ar @9 8 7

(1) R () WaR (3) R @) PR

The average of five consecutive odd numbers is 61. What is the difference
between the highest and lowest numbers ?

of drg PR e demsi @ v ol 3 O WS SR @ wee wn wemns
1 e A T R 7
(1) 6 (2) 4 (3 16 (4) 8

A is B's sister. C 18 B's mother. D is ('s father. E is D's mother. Then how iz A
related to ?
(1) Grandfather
(3) Daughter

(2) Grandmother
(4) Granddaughter

(10)
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ABRIFICBHAELIDCH e 2/ E D A& g7 oasdi 1 A &7
D w7 w8 ?

(1) amar & ) e (3) T & (4) =nfa= 2
SECTION ~ N
qug — I
(CHEMISTRY)
(e fagm)
Which of the following is an example of thermaset polymer ?
(1) Rubber (2) Nylon-66 (3) PVC (4) Bakelite
A A P-E AR IgeE BT 1S GaER § 7
(1) v (2) rEiE-66 (3) rdvedt (4) a@=gE
Nitration of nitrobenzene gives : '
(1) I, 2-dinitrobenzene (2) 1, 3-dinitrobenzene
(3) 1, 4-dinitrobenzene (4) 1,2, 3-trinitrobenzerte
ARSI BT A5erdeer ooy & -
(1) 1, 2-SrHmsgiehs @) 1, 3emgie
(3) 1, LergrnsERit (4) 1,2, 3TgEg e

Which of the following statement is false about benzaldehyde ?
(1} It reduces Tollen's reagent

(2} It undergoes Cannizzaro reaction

(3) ltundergoes Aldol condensation

{4) It forms sodium bisulphite adduct

Taftsegs ¥ WAt S Prafafeg sy sy B

(1) ug Tferw afeds @ sy wear

(2) TF FRAERY FNFT w2

(3) T CeSTA WHAA adl

{(4) I% WINSTR TFEEHRE 8T Ty

23— Hg

Following reaction is known as CH,COCH,

wo” GHle+ O
canc.

(1) Rosenmund's reaction {2) Clemmensen reduction
(3) Wurtz réaction (4) Kolbg's.zeaction

T
PTO
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55.

56.

o7,

58.

29.

frefeiftaa sftfar & wen W & CH,COCH, 2218, ¢ H, + H,0.

conc.HCI

(1) <ot & st (2) SRR AT
(3) geof arfifiman (4) wled & sfehar

The correct order of stability of the given radicals is :

(1) tertiary > secondary > primary (2} tertiary = secondary < primaery
(3) tertiary < secondary > primary (4) tertiary < secondary < primary
Rt 7 gors & wenfim m wE #9 B

(1) Tirme > wreafdas > TS (2) GRS > ARG < WaRS

(3) oS < TRART > WA (4) e < st < mefis

The mnst strained f}fdnaikane 15
(1) cyclopropane (2) cyclobutane (3} cyclopentane (4) cyclohexane

Ty aergye] HEEETET §
(1) dgeldte  (2) GegdeRd  (3) WRdEn=n (4) SEediiad

The IUPAC name of the compound HC=C-CH,CH=CH, is:

(1} 1-penten-4-yne (2) 1-peniyn-d-ene
(3) Allylacetylene (4) 1-pentene-5-yne
HU=C-CHUH=CH, @1 1UIPAC 99 b
(1) 1-9<-4-311g4 (2) 1-og-4-39
(3) REmfedr (4) 1-9EH-5-EA
Optical rotation of a racemic mixture is .
(1) Positive (2) Negative
(3) Zero (4) Temperature dependent
e W My & sifcnd T §
(1) WARTHEB (2) THRIHE

(3) 44 (4) Ao fde

The {,Gmpom"ld having one i'i{é.prgp:.r[ group I8 :

N 2,23 3-tetramethylpentane (2) 2, 2%dimethylpentane
23} 29, atrimethylpentane. (#) 2-methylpentane

(12)
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61,

62,

G4.

65.
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T FEETIIA WYE B9 F7 difves ¥

(1) 2,2, 3, 3-¢gfumatds (2) 2, 2-srgfaegades

(3) 2,2, 3-grefermgates (4) 2- T

The monomer of natural rubber is :

(1) Chloroprene (2) Isoprene

(3) Butadiene . (4) Acrylonitrile

WG aR BT (Gad §

(1) TR (2) sngEnfe

(3) wererE (4) vwEArTERES

Which of the foliowing polymers has ester linkages ?

(1} Nylon (2) ‘Bakelite (3) Terylene (4) PvVC
e & & fba agere & wev walww wry o 2 2

(1) raas (2) dFeze (3) &0fE= {4) did=h
Which of the following polymers has amide linkages ?

(1) Nylon (2) Teflon (3} Terylene (4) Polyurethane
trerfefeae % ¥ fow agew o iR waer g o 2

(1) et (2) Byl (3) hfer (4) TR
The process of vulcanization makes rubber -

(1} Soluble in water (2) Hard

(3) Soft (4) Less elastic

qEFAIATY] FfhaT R BT g & e,

(1) o= & gordhe (2) we

(3) Femm (4) @8 WaER

The number of -5 bonds in sulphur trioxide trimer (S,0,) is ;
e TRaETee B (8,0, W S-S atg o) s

1 3 (2) 1 : (3) 2 4) 0
Insulin is -
(1) a carbohydrate (2) an aming iwid
{3) alipid (4) aprutein|
| (13) :

P.TO.
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66.

67,

68.

69.

70.

71.

gyfe= ¢

(1) & @EEEge (2) we U TiTe

(3) s fafts (4) TF W

Dunston's test is used for the identification of :

(1) glycerol {2) acetone (3) glycol (4) ethanol
SAeT T e fwe uRT & @ g wgny & § 7

(1) Feere (2) wiew (3) TeAFHIS (4) goFTe

Which of the strongest acid in the following ?
formafafias 7 Tad) ved oF SE-A1 8 7
(1) HCIO, (2) H,50, (3} HCIO, (4 H,50,

The hardness of waier is eslirmated by :

(1) EDTA method

{2) lodometric method

(3} lodimetric method

(4) Gel Permeation Chromatographic method
T B FORAT B 3Aher a1 O 2 -

(1) EDTA B g

1)
(2) sEdice R gw
(3) e fff g

(4) e Wit emerire [ &

Hydrogen gas is not liberated when the following metal is added to dil HCL :
ﬂHClﬁ%ﬁ%ﬁﬁﬁﬁma@ﬁﬁaﬁ%aﬁﬁﬁawqﬁgﬁ%?

Imporlant ore of zinc is ;
(1) calamine (2) cryolite (3) cassiterite (4) malachite
Rip @1 T 7 & .
(1) FeTTE (2) PTEIEE (3) ST &) FeTTE
Most reactive tovards electrophilic nitration is :
0$

(2) nitrobenzene (3) toluene (4) benzene

+OAC aaid
Y bens® {14)
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74,
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Fodefore AgeyE fhaat AR afs e & 7

(1) 4ol anr (2) wIEEIES (3) hege (4) &
Acetone is mixed with bleaching powder to give:

(1) chloroform (2} acetaldehyde

(3) ethanol (4) phosgene

e ureer & W TEEH &1 e | 2 d

(1) R (2) TiRfeerzs

(3) s (4) wivsh=

Which of the following is used widely in the manufacturing of lead storage
battery ?

(1) antimony (2) lithium (3} arsenic (4) bismuth
e TR 328 @ i § freff 9 fvreT oo w5 @ g8 o @ 7
(1) Ve (2) g (3) smRifRs (4) Rrem

1% solution of Kl is dissociated to the extent of 80%. What would be the

osmotic pressure at 27°C (R = 0.0821 L atm K™ mol™; mol. wt. of KCI = 754
g/ mole)

KCl #1 1% e 80% o & o gue &) 27°C o® OQWRY 9§ @7 29
(R = 00821 L atm K" mol™; KCl &1 SR = 75.4 g/mole)

(1) 82t atm (2) 82.1atm (3) 5.95atm (4) 59.5 atm

Half-life of a reactions is found te be inversely proportional to the cube of initial
concentration. The order of the reaction is ;

ﬁmﬂ&mﬁﬁﬁ%m@mmwﬁwaﬁﬁ
widfa & ife &

(1) 4 (2) 3 (3) 2 (4) 5

No. of electrons in 1.8 ml of water is :

7ol @ 1.8 Pl # geiegil @ wem i

1) 602x107 (@) 301x10%  (3) 06023x 1P  (g) 020, g
The volume strength of 1.5 N hydrogen peroxide solution is ;

15N FEg RS e o dfe o -

(1) 48 | (2) 84 G ag.._ @ 80

(15)
PTa
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78.

79.

80.

B1.

2. WhenI's0

The values of Vander Waals constant ‘a’ for the gases O,, N, N11; and CH, are

1.36, 1.39, 4.17 and 2.25 L. atm. mole ' respectively. The gas which can mos!
easily be liquilied is :

¥ 0,, N, NH, 3% CH, %7 areR a7 Rewis Haer 1.36, 1.39, 417 N 225 L.
atm. mole ! ¥ | Waey s ¥ BEFA £ diell w2
(1) Oy (2) N, (3) NH, (4) CH,

When CaCO, is heated at a constant femperature in a closed container, the
pressure due to (0, produced will :

(1) Change with the amount of CaCO; taken

{2) Change with the size of the container

(3} Remain constant as Long as femperature 1s constant

(4) Remain constant even if temperature is changed

UF 3T U # Row AW W Sk CaCO, @ R W 2, CO, I & IR
Jed— B1q

(1) CaCO, @ o ¢ A= 4 wRad= & T2erm|

(2) W15 F WHR TG T TIAT|

(3) Ry W vd o T Rer £

(4) F=R T %o & o0 INETT B

E° (reduction) values of the half cells Mg | Mg and Cl,|CI” are respectively
236V and 1.36 V. The E° value of the cell Mg |Mg* | |CL,|CI"is:

ard ¥ Mg?' | Mg T@ Cl, | €1 &7 E° (o) A1 @5 236 V oo 1.36 ¥ =l
et Mg | Mg? | |Cly | CI a1 E® o1 &

(1) 372V (2) 1V (3) 0.8V () 264V
Among the following, the paramagnetic is

Brfafaa # BF RS € 7 |

(1) N0, (2) O (3) N,O (4) KO,

cidized by MnO, in alkaline medium, I" converts into :

(1) 105 @ 1 ® 107 @ 10

(16)
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W s qeE # MnO,” §R1 T st g 2 9 - aqer §
(1) 10, # (2) I, & (3) 10, # (4) 10 #

Which of the following process is used in extractive meta]lurg}r of Mg ?
{1) Fused salt electrolysis
(2) Self reducton

(3) Aqtteous solution electrolysis
(4) Thermite reduction

Mgwqwfﬁﬁﬁmﬁﬁﬁﬁ%ﬁhﬁﬁ s Wi v 8 2 7
(1) Tgve e Feagies

(2) w@T: SuEaH

(3) weir Remw geeifaime

4) vmge s

Types of bonds present in CuSQ,. 5H,0 are only:
(1) electrovalent and covalent
(2) electrovalent and coordinate covalent

(3) electrovalent, covalent and coordinate covalent
(4) covalent and coordinate covalent

CuS0,. 5H,0 # v & yoR Iufleg # g .
(1) goasIdere ¢d Srick

(2) FoEEiddT U9 BRifdRe sdc=

(3) gogidE, Fiew au B it
(4) P 19 BT BT

Isomers whith can be interconverted through rotation around a single bond
are ;

(1) conformers (2) diastreoisomers -
{3) enantiomers — {4} positional isomers
omEiT i Qaret-divs B U AR g @ sfmeaRaris B @ gey ¢ -
(1) wTERTE - (2). SRR
(3) ERER] . () T Sigeiied
(17)

P.T.0.
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86. The Cannizzaro's reaction is not given by :

(1) trimethyl acetaldehyde {2) acetaldehvde
(3} benzaldehyde (4) formaldehyde
Ffrewr sfafdar 78 g &
(1) g1gaida gRiefesess (2) whefrerms
(3) dufeesse (4) PHlcSETES
87. Benzamide on treatement with POCL; gives:
{1} aniline (2} benzonitrile
(3) chlorobenzene (4} benzylamine
derErgs POCL, @ i ol €
(1) T (2} HAIECEE
(3) deliddufi- (4) Afserrie
BB. Which of the following pairs give positive Toilen's test ?
(1) glucose, sucrose (2) glucose, fructose
(3) hexanal, acetophenone (4 fructose, sucrose
Pretfafies § S5 g AT fom T <ur k7
(1) "o, YA (2) TEIBIE, WEIA
(3) S, R (&) I, GE
89. Which of the following compounds reacts with ammenical solution of AgNO, ?
(1) 2-Butyne (2} 1-Butyne {3) Ethene {4) Ethane
Prafrm e § @ BT AgNO, B R ora @ s sl Fw @ v
(1) 2= (2) 1-egergH (3) A (4) v
90. The cydlic pnlyrﬁerizatiﬂn of acetylene produces :
(1) Benzene {2) Cyclohexane
(3) Toluene (4) 1,3, 5-lrimethylbenzene
TR AR = T GEARTETT] Gl € ¢
# . ’T iy
) (2) HIgFlRdT
4 1'-1 3! 5'}( .L'xh -
(3) =T & g

- (18)
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Which of the following molecules has ali the three sp, sp” and sp’ carbon
atoms ?

ﬁﬁﬁﬁﬂﬁﬁﬂﬁiﬂﬂﬁwﬁﬁqspﬁpzaﬁﬁwaﬂ?ﬂ?w%?

(1) ClL,=CH-CH=CH, (2} CH;<CH=CH-CH,

(3) CH;-CH=CH-C=CH (4) CH,CH,CH,CH,

Acetylene is produced by carrying out electrolysis of potassium salt of :
(1} Acetate (2} Succinate . {3) Fumarate (4) Oxalate
eRrfe el e deRem oo % gy amves & wwe Ryar e &
(1) WRe (2) afrrie (3) "HYE (4) sifesroe

The hydration of propyne in the presence of Hg’SOQ /H,80, produces.
ST BT HgSO,/H,S0, # sy ¥ wemier a7 & -
(1) CH;CHO (2) CH,CH,CHO (3) CH,COCH,  {4) HCHO

Geometrical isomerism is shown by :

(1) Alkanes - (2 Alkenes

(3) Alkynes ‘ (4) Aromatic hydrocarbons
ST T fat e &

(1) T&pT Ry Q) M ERT

(3) TewE BN (4) wEfed ggeET gRr

The ozonolysis of 2, 3-dimethylpent-2-ene produces :

(1} Two molémlers of aldehydes

{2) Two molecules of ketones

(3) One molecule of aldehyde and one molecule of ketone
(4) Neither aldehyde nor ketone

2, 3-gigfrrzene-2-37 B AT oy & :,

(1) sfesergs & a7 @

(2) N @ Ty ;]

(3) TRSETSS FT TH F M P 5y 0 i)

(4) = o CReEigs o 7 & e

(19
’ PTO
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86.

97.

98.

100.

CH,

The ITUPAC name of the compound H,C-C-CH=CH, is:
|

CH,

(1) 3,3, 3-Trimethylpropane (2) 1,1, 1-Trimethylprop-2-ene
(3} 3, 3-dimethylbut-1-ene (4) 2, 2-dimethyibut-3-ene

CH,

1
Hgt—(f—CH—CHE @l IUPAC =T 2 ¢

CH,
(1) 3,3, 3-grEfemgad (2) 1,1, 1-gTEMengeid-2-54
(3) 3, 3-TRfAugaes-1-57 (4) 2,2-TEfheTEeege-3-¢-
Which of the following compounds exhibits cis-trais isomerism ?
(1) 2-Butene (2) 2-Butyne (3} 2-Butanol (4) Butanal
fr=fafiad i @ w98 O cis-trans TRIGIE SGHRA A1 E 7
(1) 2-227 (2) 2-=2TE (3) 2-wHfe (4) eye=Ter
Ethane is produced during the electrolysis of potassium salt of :
(1) Succinic acid (2) Malonic acid
(3) Acetic acid (4) Fumaric acid
vor e T aaw @ Rigge sweed § S R e & 7
(1) wirafw are (2) FreltiTen 30T
(3) Thhfeam st (4) wARe s
Buna-Sisa:
{1) Monomer (2) Trimer (3} Co-polymer (4} Dimer
Buna-S & &
(1) THed (2) ¥FW (3) HEEga® (4) SRR
Which of the following is a Nalural polymer ?
(1) Bakelite (2} Nylon (3) Proteins {4y PVC
P 4 R BAE @ A 4EAD & _

s 2) A (3) o (@) &A@

(1) ¥FIRE o

(20)
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SECTION - 1ll
g =1l
(PHYSICS)
(MR )
An inductor of reactance 1 and a resistor of 20 are connected in series fo the
terminals of a 6V (rms) a.c. source. The power dissipated in the circuit is ;

10 9fRe & Rl Sre wor 20 9RRY 3 5l 3RRus B 6 V {rms) & vt
SR H W Afima A e ¥ oRer § e o @ 5

(1) 8w (2) 12W (3) 144W (4) 18W
In a permanent magnet at room temperature :

(1) Magnetic moment of each molecule is zero

(2) The indivudual moleculés have non-zero magnetic moment which are all
perfectly aligned
(3) Domains are partiaily aligned

{4) Domains are perfectly aligned
DY F A9 U fHer wmt e #

(1} 799 9] @1 gESIY JE T & §

(2) T S-S S @ AR PR oyl & ¥ o wfe W B &
(3) ¥ ave e B ¥

(4) M= Toie: wite @ &

Change in temperature of the medium changes :
{1) Frequency of sound waves

(2) Amplitude of sound waves

(3} Wavelength of sound waves

(4) Loudness of sound waves
AH $ T oREee ¥ .

(1) eafy w=et o ol ol & e 3

(2) & T B w99 WAy &

(3) eaf TR FT AR T TR

(4) =y Tl B VEeRT g I b,
(21)
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104,

105.

1086.

The displacement of a parlicle is given by x=(t-2 2)* where x is in metres and ¢

in seconds. The distance covered by the parhcle in first 4 seconds 15 :
(1) 4m (2) 8m (3) 12m (4) 16m

Rl o1 o fvemge x = (1 —2)° Prefia R Smar 8, we x Frex ¥ oo £ 9Es

T T R GRS 4 Ao A BV ERI T B E W E
(1) 4m (2} 8m (3) 12m (4) 16m

An electron is moving with an initial velocity 2 =2,i and is in a magnetic field
B = ByJ. Then it's de Broglic wavelength.

(1) Remains constant

(2) Increases with time

1) Decreases with time

(4) Increases and decreases periodically

o gt R qEE 3T oo, ¥ R gredim &3 BBy ¥ REE ¥
sul SO @) A a3

(1) AN ¥Edl 8

(2) @ o W gl 8

%) T F Y Ul @

(4) anad] @ & wedt 3R e

Haole s

(i} an anti-particie of electron,

(2) avacancy created when an electron leaves a covalent bond.
(3) absence of free electrons,

@) an artificially created particle.

e B %

0 Fodg L
w@ﬁﬁﬂhﬂﬁ%ﬂ?’ﬁ?ﬁﬁwﬁﬁrwﬁﬁﬁ

ﬁﬁiﬁﬁ‘ﬁ
qﬂm—ﬁ?ﬁw

)

(3
wy TR
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In a Young's double slit experiment, the source is white light. One of the holes
is covered by a red filter and another by a blue fiiter. In this case :

(1) there shall be alternate interference patterns of red and blue.

(2) there shall be an interference patiern for red distinct from that for blue.

(3) there shall be no interference fringes,

(4) there shall be an interference pattern for red mixing with one for blue.

a1 @ BRA vam % w0 v gemwm 7 21 0o g @) 9 fees @ gw R T
& 3N TR o Ny ey 71 9 sy ¥

(1) ot den Fiet 97 & e @iew ded 8

(2) = o A 1 B Jum-yue gene afieer de @ |

(3) &% W =fomor B 78 2

(4) @ ¥ W I 0@ e e v A T R o ded ¥ Rt g

When a horse pulls a cart, the latter moves because of -
(1) The frictional force due to the road acting on the cart
{2) The frictional force due to the road acting on the horse

(3) The pull of the horse on the cart being greater than the force of reaction on
the cart

{4) The pull of the horse being greater than the force of reaction on the horse

S/ HIgi MY W GiEw 8, @ T f BRer @ i B 2

(1) weo & a¥ go7 B M ww By B @

(2) WSF & wiv g7 @ " W By we A

(3) ©1$ RT Wi BT a0 ME | T o) w2 79 RS B B mwor
(4) 91 ERT WITR &7 907 B R oY el TRBALAR § 30T BN & g

If the time period of a simple pendulum is T its kinetic energy is also periodic
with a time period :

Uh EERY dfed B A aid T E A 99 TRer et @ ot 2 qwn
TS HFTl oTe BT

1y 21 @ T o @ I

For light diverging from a point souree «

(1} The wavefront is spherical

(2} The intensity increasés in proportion to the distance scitiFad
(3} The wavefront is parabolic

(4) The intensity at the wavefront doeg not depend on the distapce

{23
} PTO
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111,

112

113.

114.

s fivg wim < sy 2R ue @ e
(1) vy TTeig &

(2) Hadt gf & @l & dquia F g2 §)
(3) TR Waeaw ([ER1E) ) 2|

() Ty W e g o AR A AR

Two cells of emf's approximately 5V and 10V are to be accurately compared

using a potentiometer of length 4lcm.

(1} The battery that runs the potentiometer should have voltage of 8V,

(2) The battery of potentiometer can have a voltage of 15V and R adiusted so
that the potential drop across the wire slightly exceeds 10V,

(3) The first portion of 30 cm of wire itseil should have a potential drop of 10V,

(4) Polentiomeler is usually used for comparing resistances and not voltages.

sy 7 10V i o gl e & 2 de 6 ger GRYE B9 A 400 o o

F Fveerd grr A T 2

(1) g ¥ 9T W drell 99 ot dreea 8Y GGt

(2) Frgem® @ drear 15V € wad @ 3 R F 6 YR FEMINAT T FHH #
B e @ Rt T P 10V e ot 8@

(3) Wi TR & 98 50 Who WTY W fwewr 10V € 1R |

(1) B @ S ST ufRy o g @ for v o @ fpre & foe

The dimension of torque is same as that of :
(1) Impulse (2) Momentum (3} Power (4) Energy
e @ T adt B W0

1) e A E () W AE (3) wfae &t & (4) & 2

1 mile/ hour speed is equal 10

(1) 4.46m/sec (2) 0.447 m/sec

(3) 1.612m/sec (4} 3.213 m/sec

1 Brer /HET B AR G 8

(1) 4.46 %o /To (2) 0.447 Mo /Fo
(3) 1612 ¥ /%o (4) 3213 /Ho

15y an inelastic collision of two objects the following is rat conserved :
(1) Momentum (2) Total energy
(3) Kinetic energy (4) Potential energy

(24)
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&1 TG A e Te & Pt o1 Tew 78w -

(1) ¥ (2) T S

@) s et - (4) Refdy wai

The time T required for a planet to complete one revolution about the sun in an

orbit with semi-major axis @ and semi-minor axis & satisfies the following
relation ;

T2. 2 2 2
[-U ‘;_j" = {onst. {2) %-3— = COnst, {3 %12— = oonst. (4} ;T = eonst.

*qaaﬁﬁ?rﬁﬁmrqeawcﬁmﬁ#‘fawm%;aﬁmma%wﬁi-‘ﬂﬂw
ﬁmwaMM-mmbﬁﬁ%ﬁﬂamﬁqﬁﬁ@fﬁﬁ?%:

T2 : T3 - i : T? .
(1) ﬁ—3=mﬂ$ @ F=ferim @) ~=RRE  (4) ;=R

£

For a satellite in a circular orbit following conditions halds :

(1} Kinetic energy is greater than potential energy

(2) Kinetic energy is less than potential energy

(3) Sum of kinetic and potential energies is positive

{4) Sum of kinetic and potential energies is negative

% TOR BT A g gy IE F ory P i o 2 2 -

(1) vt wo Rerfrer wt @ e @ 2

(2) o ot Refrer Boit & a9 B @

(3) ot o Refds ot &1 @ gere ey @

(4) R O Rt grorf a1 1 oo B @

An organ pipe open at both ends has a fundamental frequency 400 Hz. If one
end of the pipe is now closed, the _fpndamenlil MEHEE will become
{1) 400 Hz (2) 200 Hz (3) 546 Hz (4] BO0Hz

W%mﬂ#ﬁwﬁm&@fﬁ%aﬂiwgwﬁﬁmélm
THE UH Rt am 9 W% R o1g, o e sngfhy 29 -

(1) 400 g5t - 2) 200 B (3) 546 BT @) 600 e

25
pae] PTO
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118.

119,

120.

121.

122.

123

124.

Two masses of 1 gm and 4 gm are moving with equal kinetic energies. The ratio
of magnitudes of their linear momenta is :

IWﬁ?4maﬁﬁmﬂmﬂﬂﬁmmﬁﬂ%m?ﬁ%|mﬁrﬁw
@ GRATT HT auE B
(1} 4:1 (7) 2:1 (3 1:2 (4) 1:16

If two adiacent walls and the ceiling of a rectangular room are mirror surfaced,
the number of images of himself as observed by an observer will be

| R e TR A & s ¥ gl e ik va @ waw w i am R

T & T e g o (AT @) S ) S

(13 3 (2} 5 (3) 7 (4) 9

A man whose weight on earth is 300 N, is lifted to a height of two earth's radii
above the surface of earth. His weight will now be :

o e Rres 7R Y W 500 N B, SU gy gl @) e & g
Broa & SN[ SO T o S & | I A A A
{1} 500N (2) 166.6N (3) 55.6N (4) 50N

A car rounds a curve of radius 40 m at 48 km/ hr. The centripetal accelerabion s

v IR 40 Hew B @ M oy w48 ffte /do 1 TR O gRY £1 9T
Bl Y 8

(1) 4.44 m/sec? (2) 1322 m/sec>  (3) 168.7 m/sec? {4) 243 m/sec’

The S.L unit of inductance times capacitance is .

(1) Second* {2) Volt {3) Ohm (4) Hertz
ey x e o Tived ARSI 3BT ©
(1) Tmoe! (2) AT (3} #EA (4) w9

A 15 p F capacitor is charged to 60V. The energy stored in the capacitor is
wE 15 F B T T 60V oF AR B £ | waa 7 sl el gl
(1) 0.027] (2) 0.039] (3) 0.054) (4) 0.092]

A 2w F capacttor is charged to 20 V and then connected across a 6 )L H inductor.
The maximum value of current is ;
{1) 11 A AmMp (2] 20 Amp 3) 155 Amp & 95 Amp

(26)
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wzpFﬁﬂﬁﬂTaﬂﬂmﬁazﬂvwmﬁwﬁmw%aﬁ?ﬁuHj?aﬁa%‘fa‘rg
far st &1 aRr w1 Twy 99 &
(1) 11.5 vfauaw (2) 2.0qfya (3) 15.5 iy (4) 9.5 vfr

The earth's radius is 6.37 x 10° m and the earth is 1.5 x 10° km away from the
Sun. The fracton of radiation emitted by Sun as intercepted by the earth is :

T BT AR 6.37 x 10° Mo ¥ ik | | 47 1.5 x 10° folo 8 = ¥ G W
ST YT B AT W) 9 TR g, &

(1) 451x107® (2) 1.82x10%.  (3) 45x107Y (4) 6.21x 107"

Two balls are dropped vertically downwards from rest from the same point
after an interval of 1 sec. If acceleration due to gravity is 10 m/ sec? , then what
will be their separation after 4 sec from the release of the first ball 7

(1} 30m (2) 33m (3) 25m (4) 40m
ﬁﬁﬁﬁ?ﬁﬁﬁﬂgﬁlﬁoéﬂﬂmﬂﬁ?ﬁﬁ%ﬁ%f@ﬁﬁﬂiﬁ
ToE WG T 10 B/ &), & Ted W B WY B 4 Fove avg A K
forert gt &y 2

(1) 304 (2) 354 (3) 259 {4) 404

A person moves 30 m towards North then 20 m East and then 30v2 m South-
West. The displacement of the person from the starting point shall be :

(1) 20 m South-West (2) 15 m East

(3) 30 m North-East {4) 10 m West

T Ry 30 A Foe R 20 # g i B 3043 A SRR Ter &1 el
B & vae fvems g

(1) 20 9 Zer-ufem (2) 154 qd
(3) 304 Teqd {4) 10%r uftem

A small solid sphere when .d_rgpped in a viscous liquid finally moves with 3
uniform (constant) velocity, which is known as :

(1) Escape velocity (2) Critical velocity

(3) Terminal velocity: (4) Reyacld velocity
w@maﬁﬂﬁﬂtﬁwwmﬁ#mwéﬁaﬁamww(ﬁw
wfer & niydfte B & ow R W &

(1) wer= am @) w4

(3) ¥ (4) ifes ¥

2
27) PTO.
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129, Two simple harmonic motions in mutuaily perpendim]ar directions are super

130.

131.

imposed. If both of these motions have the same amplitude phase and
frequency. The resultant motion will be :

(1) A straight line inclined at 45° to both directions

(2} A straight line inclined at -45° 10 both directions

(3) Acircle

(4) An ellipse

2 TvEGy SR Ao oTgRY Al B O SRR #r o g1 1fE 2 B
ST e wd emaRil T g dl g et il E

(1) 21 e A 45° R 74 W

(2) T fEamet § —45° W A e N

(3) w& g

(4) T Qg

Different colours are exhibited by white light reflected from thin fitm of
kerosene oil floating on surface of water because of :

(1) diffraction (2) dispersion (3) interference  (4) polarization

Wﬁaﬁqﬁﬁwmﬁﬁqﬁﬁﬁﬁwwﬁﬁmmmﬂﬁa
frer 1 & Pregd ues & RO B

(1) ofegw (2) e (3) aferae (4) gArm

The plane faces of two identical plane convex lenses each having focal lengths
of 40 crs are placed against each other to form a usual convex iens. The
distance from this lens at which an object must be placed to obtain a real
inverted image of the same size {(magnification unity) :

(1) 80em (2} 40 cm (3) 20 cm (4) 60 cm

40 < BB ) Fa A I qHae I e B TIT e o3 v vl B
%awmﬁﬂmﬁl?ﬁqﬁﬂ?}ﬁﬁ'ﬁmﬁﬁﬁﬂ ¢ T T B e
Fze RNaTe, ARCASE U FAE MFR (e ) BT 9

"y k & \l'
() 80 (2) 408" (3) 2030 @ -
(28)
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132, In Young's double slit interference experiment the wavelength of light used is

133.

134.

135.

6000A. If the path difference between the waves reaching at a point P on the
screen is 1.5 microns then at point P

(1) second bright band occurs (2} second dark band occurs

(3} third bright band occurs (4) third dark band occurs

aT F B Ao morr # 60004 TR & wary wE e o ) aft o
@ PRg w 789 areht aoli & ey wure 1.5 7% 8 @ firg P e :

(1) fodm <y et R & (2) fadg s anfdf few &

(3) T ey Rt el # (4) TN sl vyt feady &

The Brewster's angle for a glass slate (1 = 1.5) immersed in water (n=1333)is:
TR (=133 ¥ g M (=15 Ry B forll e oy &
(1) 56.31° (2) 33.69° (3) 20.6° {(4) 48.4°

The electric potential at a point inside a uniformly charged sphetical shell of
radius R :

(1} is constant (2} variesasy
; 1 1
(3) varies as— (4) varies as —
r r

where 1 is the distance of the point from the centre of the shell.
Rmﬁmmﬁmﬁ'wﬁ%ﬂwﬁrﬁﬁwﬁﬁrﬁﬁwﬁgﬁﬁm:

(1) Froamm & (2) r 9N wRafte & &
(3) izﬁmwﬁerrﬂ%rm% (4) liﬁiﬂr?ﬁaﬁﬁﬁm%
¥ T

wIEl ¢ TiielE e b b 9 g W gl 2

Five resistances are connected as shown in-fgeza below. The effective
resistance between the points A and B is :

ﬂﬂﬁrﬂﬂ?ﬁﬁﬂfﬁwmmw%ma@aﬁamBaﬁmmﬁ;ﬁmu?;
m F: S Y
30

(1) 602
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136.

137.

138.

139.

140.

The magnetic flux linked with a circuit of resistance 10002 changes by 500
Webers in 10 seconds. The amount of induced charge (in coulombs) that flows
irt this circuit during this time is .

R 1000 SR & wlRaer & Tera gy T 10 To ¥ 500 39t W TRafE &
Glﬁﬂ%'ﬂ‘[?mtrﬁ-:rﬁﬁgﬁ%wﬁmﬁﬁﬁ#a@hﬁﬁe—maﬂmwﬁ
Gl

(1) 0.5 {2y 5 (3} 50 (4) 0.05

The common base current gain o of a transistor js 0.95. The iransisior is
connected in CE configuration. What would be the change in collector current
when the base current changes by 2mA ?

farelt pifomvey @ wvafie s 3 o @R o B AF 095 § U iRy
Iﬁfﬁwﬁﬁﬂm‘r&:amﬁa‘m'ﬂm%luf&mﬁﬂmﬁZmﬁ.nﬁfﬁhﬁm
¥y w1 A feeer ufer g0 ?

{1} 1.9mA (2) 38 mA (3} 19 mA (4) 24 mA

The half life time for a radioactive substance is 5 hours. How much quantity of
the substance will decay in 20 hours 7

G e wham wered A Sigong 5 &) 20 W F &4 g¥ TR P A eI
(1) 93.75% . {2) 625% (3) 75% (4) 25%

A concave mirror has a radius of curvature of 3 cm. The distance at which an
object must be piaced in order to give a virtual image magnified by 5 times, is :
(1) 1.Bcm (2) 25¢m {(3) 1.2em (4) 3.2cm
@ﬁﬂ‘ﬂaﬁmaﬁWﬁWSﬁﬁgﬁaﬂﬂﬁaﬁmﬁWﬁﬁ?mm%
FrAfE = @ AR 5 T vt foel 7

(1) 1.8%A (2) 259 (3) 1.2 (4) 32

which of the following statement about spectral line series of hydrogen atom is

corred i ? ; .
(1) Lyman geries is in infrared reglon
2) paschen seres is in visible regicn
mer seriés is partly in visible region and partly in ultraviolet region

(3) Bal R .
cerls is in infrared region

(4) palmer
(30}
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F@Wtﬁmiﬁmﬂﬁiﬁuﬁﬂﬁﬁmﬁ%ﬁqﬁﬂ#mﬁwaw wet
-
(1) e 4o siavag &9 F QA 2
(2) om0 g7 &= F ) 2
(3) AR Aoft e gvm o AYE T &9 § B 8
(4) 7 Ao svay g F A @
The knee-voltage (cut in voitage), a PN junction diode is -
(1) 0.2 volt for Si and 0.6 volt for Ge diode
(2) 0.6 volt for both Si and Ge diodes
(3) 0.2 volt for both Ge and Si diodes
{4) 0.6 voit for Si and 0.2 volt for Ge diode
fa PN-¥if smils 3 g (e 55 ) FT T BT R
(1) feferer s @ Ry 0.2 e qor sedfyam saie & feg 0.6 e
(2) Riforam v sredfams €9t smie & Bro 06 dree
(3) st o fafem <N eew @ R 02 9
(4) fifermm s/ @ fy 0.6 de TdfrT ST 3 By 022 S

Two point charges Q and -‘BQ are placed at some distance apart. If the electric
field at the location of Q is E then the electric field at the location of -2Q will

be -
ﬁﬁgmgm—quﬂw'ﬁﬂé‘ uﬁQa%ﬁﬂﬂu?f&gqﬁagéa
~2Q @ W W e &5 g .

M2 @ -E 42 @ -F @ F

By mistake a voltmeter is connected in series and an ammeter jg
parallel with a resistance in an eleetrjcy] circuit. Whaj wijl K
measuring instruments ?

(1) None of them will be damaged {2) Both will e damagey
(3) Only voltmeter will be damaged (&) Only amreter >

Cﬂm‘tﬂ(‘ted in
happen o C these

Anageq

(31)
P.TO.
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144,

145.

146.

147.

Tﬂ?ﬁﬁﬁﬂﬂfﬁ?ﬁﬂﬁtﬂfﬁﬂﬁﬂﬁﬂﬁﬁﬁiﬁbﬂﬁaﬁ?ﬂmﬂﬁ
R T R e ) g9 Suewm oY W W gl 7

(1) §9 Quewwil § & oF @ae 4 B (2) S SUmRS BRI & W
(3) @5 doesiey G BET (4) FTel o) weE f

Which one of the foliowing particles will describe the circle of smallest radius

when these are projected with the same velocity perpendicular to the magnetic
field ?

(1) Li" ion {(2) He" ion (3) Proton (4) Electron
Pt Uit 3 @ BT BV A @ AN B g9 ST o B gee
&5 & waa B A gawn a3 vl R w8 2

(1) Li'" aem (2) He*amaa  (3) 9EM (4) 3THRA

An electric iron {press) marked 2 LW and 250 Volt. The resistance of the heating
element of the press is

(1) 62.5ohm (2} 125 ohm (3) 31.25 ochm (4) 5% 10°chm

wp fer e (T W2 kW e 250 dec sifthd 2| 5B HOTD T BT TRV
E‘—flel— :

(1) 62.5 3 (2) 12534 (3) 31.253M (4) 5x 1073
The dimensiona! formula of universal gravitational constant Gis:

A et Nudd G Rl g3 8

1y M2 @) M LT (3) MLIT? (& M

The moment of inertia of a body about a given axis is 1.2 kgz"mz. To produce a
rotational  kinetic energy of 1500 joules starting from rest an angular

Jcceleration o = 25 rad /sect must be applied on this body about that axis for a
period of :

(1) 2 sec (2) 10 sec (3) 5sec (4) 4 sec

. fog &1 qE s el G @ gfte: 1.2 fme /o’ &1 gw¥ 1500 qaﬂﬁﬁ
TR st v B @ g et @@l o = 25 W0t @) v flug W ug
+ . ROCEHAT T wmT € 7

el o
0 2% {2} 1030 (3) 5% 4y 4 e
t _

(32)
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If the RMS value of the AC voltage across the secondary of the transformer in a

half wave rectifier is 9 volt. The maximurn DC voltage across the load without
any filter is about : :

{1} 10V (2) 4V (3) 8V | (4) 6V

ﬁiﬁ@mmﬁ#mﬁ%ﬁmﬁuﬁﬂ:mwmmﬁmtﬁ
{WQWWG]WWWQW%IWW{&Ef@iﬂiﬂc}ﬁﬂﬂﬁﬂﬁw
T E 57 o () uRmy T e #

) Josee @) 43 @89 @) sdw

The impurity atoms with which pure Germanium should be doped to make a
N-type Germanium :

(1) Sodium (2) Boron (3) Antimony (4) Aluminium

ﬂﬁmtfﬂjﬁﬁwﬁﬁﬁﬂmﬁmw%wwW%w
N-TFR & sigdured § qoq on - - .

(1) Wy (2) FRFT (3) o= (4) veyfafrm
The moderator in a nuclear reactor ﬁlnctiuna_im,.thafnllnwing_ way :

(1) Absorbs neutrons (2) Absorbs thermal energy
(3) Slows down neutrons (4) Accelerates neutrons

e el ¥ wew e e R v awar &
(1) “GgFY w1 amemme (2) orfm Fem F7 o
(3) =gtar o 71fir @t o over- 2 @) =G B R B gy e 2
SECTION - IV
Wy — |y

BIOLOGY (Botany and Zoology)

Sia-faR (T v e frertary
Maltose is: —— :
(1} Monosaccharide {2) Disaccharide
(3) Polysaccharide _ (4) Oligosaccharide
I B L
(1) Ariddags S €A
ORICEREE ) SR

(33)



17UM16/20(Set-3)

152. Androstenedione is produced in :

(1) Granulosa cells (2) Leydig cells
(3) Sertoli cells (4) Sperms
TgreeregalT Swmed it ¥
(1) e arfErmRd @ (2) e et J
(3) RO @R (4) wd ¥

153. Starfish belongs to phylum:
(1) Porifera (2) Coelenterata
{3} Protozoa (4) Echinodermata
werefteT Prg wrEEn @ ofErlT o € P
(1) SR (2) fheiever
(3) T (4) FFTZATSHEl

154, Nerve netsystem is found in :

(1} Planarians (2) Insects - (3) Hydra (4) Earthworms

a8 3z Rrew waT ST §

(1) wRTe i (2) wre # (3) g A (4) g #
155. Antibodies are produced by :

(1) Blymphocytes (2) Macrophages

(3) T lymphocytes (4) Erythrocytes

) TEad B ¢

(1) B RrERIEEE & (2) Hlbuiel BT

@) T ReTaEes &R (4) eReETEEA BT

156. Most abundant white blood cells in human blood is :

(1) Basophils (2) Eosinophils  (3) Neutrophils — (4) Monocyles

s TN A [ TG Hyy A A g T DT E

¥ () safrafre (3) TiFeu (4) BriEEeY

(34)



157,

158,

159,

160.

161.

17U/116/20(Set-3)

Catecholamines are generally secreted from

{1} Zona reticularis (2) Zona fasciculata

(3) Zona glumerulusa (4) Adrenal medulla
HPE WA Wiy we #

(1) < ¥WgeRe § (2) S Bdgerer @

(3) T R | (4) v$ma Agen B
Ultra-filtration of blood takes place in :

(1) PCT of renal tubules (2) DCT of renal tubules
(3) Bowman's capsule (4) Loop of Henle

W F Ay oty Eﬁﬁ“l% ;

(1) 3967 Tgaes & PCT & (2) 9 Tzmgew & DCT 3
(3) I & Py Y 4) & & u ¥

Urea is secreted into the medullary interstitititn fitin s

(1) Descending loop of Henle (2) Ascending loop of Henle
(3) PCT (4} Collecting duct
Ifear Agead FReORET § w1l ey 2

(1) & & 3wy o @ (2) o i
(3) PCT & (4) wofTT s @
Inactive pancreatic trypsin is achvated by : T

(1) HCI o (2) Na"and K*

{3) Enterokinase (4) Lipase

ffima Ufspmfes et woiv e 3

(1) HCl & (2) Na*T B* 2rr

(3) SeRPTE GRT () S Rw

Stroke volume of norral human-feart ig .
WMFD ¥ §S4 @ STErG 6 AT R |
1) 70ml 2) 140ml (3) 500 ml (4) ESC'Umf
(85)
| PTo.
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162,

163.

164,

Deoxygenated blood is carried from human heart to lung through

(11 Pulmonary vein (2) Pulmonary artery
(3) Vena cava (4) Aorta

Fed R v WFE ETU W GBS ¥ @ W R 8

(1) oedr-9 fRT g (2) TR Al g
(3) @1 dar g (4) THTI R

Tricuspid valve guards the blood flow between :
(1) Rt Atria and Rt. Ventricle
(2) Lt Alria and Lt. Ventricle
{3) Rt. Ventricle to pulmonary artery
(4) Li. Veulricle o aorta
CTgiius afed ¥ad WATE T e Al §
(1) afeh sfgm wd ofe Iwa o 919
@) @i s o o Hfpww @ dm
(3) TR ARFA ¥ gAY IR @ A
4) arft #fae & veef @ 4
Cardiac output is increased by :
(1) Sympathetic neurons of ANS
(2) Parasympathetic neurons of SAN
(3) Cortisol
(4) PON
i STOTIC 96T ¢ ¢
(1) ANS B Riofe® < g
(2) SAN® oy fEuefts "R g™
(@ PONEY

(36)
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165. Inspiratory reserve volume of normal human lungs is :

W AT B! @ gEaged R e & -

(1) 500ml (2) 2500-3000ml  (3) 1000-1100 ml (4) 3000-3500 ml
166. Binding of oxygen tuhernﬂgllc}bin is known as :

{1) Oxidation {2) Reduction

(3) Oxygenation (4) Oxido-reduction

T B oy AifRdom & 79 @y e 2

(1) siferttevor (2) srgee=

(3) sifedrafag (4) sitrder-Remm

167. Which of the fuiluwi:n,g favours the dissociation of oxygen from  the
oxyhemoglobin at the tissue level ?

(1) High pCO, (2) Low pO,
(3) High H" cancentration (4) All of the above

mmwmﬁ?ﬁ%ﬁﬁﬁﬁﬁﬁaﬂégwaﬁﬁﬁ%ﬁwﬁ#ﬂﬁ
Wl v & 7

(1} 3= pCO, (2) Fr po,
(3) S=0 H" s (4) T o
168. Inhuman, auloexcitable action Potential is generasadufizst in ;
(1) AVN (2) SAN
(3} Bundle of HIS (4) Purkinje fibres
AT #, T e fn aeet g2y geg= g
(1) AVNH (2) SAN ¥
(3) HIS® dee ¥ (4) =G~ wrged o
169. Bile salts are made in :
(1) Pancreas (2) Liver (3) Duodenum  (4) Stomach
' q3d T & B ' :
(1) e ¥ (@) aga A (3) Tl @) Sy
(37)
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170. Animportant feature of human evolution is ;

1.

172

173.

(1) Increase in hearl size (2) Increase in limb size
(3} Increase in brain size (4) Loss of tail

Ag R o) e (AT

(1) 554 @ sk A yfg (@ fore @ sTor A g
(3) e 3 wrar § 7 (4) do @ &l

Which of ihe following is scientific name of Pheretima posthuma ?

(1) Leech (2) Neris (3) Earthworm  (4) Tapeworm
wriifem aRep (Pheretima posthuma) fre & © Rewet d9ee T 57

(1) e (2) AR« (3) Hgal (4) Prampi
Which one of the following is #ot an absorbent organ in humans ?

(1) Nictating membrane {2} Ear Shell muscles

(3) Flat front teeth (incisors) (4) Vermiforms appendix

frey & @ e v 3 aEdd o FE e T

(1) PfEr Tt () T AR

(3) ¥R @ A < (4) wmm Tifead

Biopsy is related with :

(1) Post mortem done to know the cause of death

(2) Examining in unconscious state

(3) E-_ieparaﬁng tissues from the body for examination
(4) Treating hj,rdmphﬂbia

i (Biopsy) A 2

(1) 79 P FRo S o o Fradad & o

(2) e 2 Rafy 8§ oder et @

(@) T B Tt A1 TR F FET T A

@) m@ﬁﬁmmwmﬂ

(38)
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174, After birth in humans in which tissue there is no cell division ?

(1) Skeleton (2) Nerve (3) Connective  (4) Genital
W B 9% qE @ 5 wae § o8 o fare e e 27
(1) FFmer (2) dfaer . (3) wuish (4) v
175. Match List-I with List-II and chioose the correct answer from the code given
below :
List-I (Discoverer) List-IT (Discovery)

A, Gener i Blood Group

B. Watson i Penicillin

L Landsteiner ti Vaccinization

D, Fleming v Double helix
Code :

A°'B C D

H i 6 v

@E v o6 i

(3) i iv i it

@ i i i g :

-1 B gA-11 ® e frenT B R A R ge @ wd sev g
-1 (Grst) Y- (@)

A, TR i weR @it
B. A ii ofAfafem
C. I Wi S,

D ?ﬁﬁ"'{ iv fBemreeh

e}

-

i?g'ﬂ:

AB C D
My il 1 i v
@) i iv i i
(3) i v i i
(@) i i iv i

o) PO
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176. Ficus is an example of which kind of inflorescence 7

(1) Spike {2) Raceme

(3) Cyathium {(4) H}'ﬁanthndium

BEHE [ Genld & YWishH b FETET & 7

(1) e (2) =

(3) wrEfgH (4) BiEUenfSaH
177. Bicarpellary gynoecium and oblique ovary occurs in:

(1) Mustard (2) Brinjal (3) Wheat {4) Onion

et s ud R STETTd O W © |

(1) @l A 2y &g H 3) WA (4) = A
178. Photorespiration takes place in:

(11 Witochondria (2) Glyoxysomes

(3) Peroxisomes (4) Golgi bodies

FHTY T fhd 2w 8 7

(1) HTerlNyal (2) TEgHfRRT

(3) el (4) Teh A

179. The first CO; acceptor in Gy plants 18
Ca il 7 CO, P e Eieprt 8
(1) PEP. (2) Ru.B.P. 3 P.G. A. 4) O.A A

180. The hormone present in the liquid endosperm of coconut is :

(1) Ethylene (2) Gibberellin {3) Auxin (1) Cytokinin

afTd @ oXet SNy F urn S e g B

(1) gUigsh (2) fFRaE (3) e (4) HigETTE
181, 'Molecular Scissors' used in genetic engineering 15 :

(1) N A Polymerase (2) D.N. A. Ligase

(3) Restriction endonuclease (4) Helicase

a]ﬁrf%m* S A yEe g gl o Sl (Al vie) 2

1) o To To iefe (2) €10 T To TR
ﬁ} SRR Lrovy AT (4) efma

(40)
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In India, tropical rain forests are found in:

(1) Darjeeling (2) Andaman
(3} Rajasthan (4) Jammu and Kashmir
ARG A eIl = o o @ ;
(1) Tfffem % (2) smeam ¥
(3) oTRTT (4) W9 oF weir #
The major source of methane in India is ; -
(1) Rice Fields (?) Wheat Fields
(3} Sugarcane (4) Fruit Orchards
HRE A AN 7 e e # :
(1) o™ 3 &g ' 2 ¥ & O
(3) 7= 4} Faf & T
Opium is obtained from :
(1) dried leaves (2) roots
(3) latex from untipe fruits {4) latex from ripe fruits
AU W Y A L
(1) e i & | 2) w2
(3) 7 9@ B @ o @ (4) T B P v @
Sunhemp is obtained from :
(1) Crotolarig Juncea (2) Cannabis sativg
(3) Musa textilis (4) Cocos nucifera
W oS 9 iy & - |
(1) #IefeRe o3 (2) Py werear
(3) 77 2veR & @) s
Amino acids are : L
(I} Negatively charged (2) Positively charged
(3} Zwitterions ... . . (4) Cations

(41)
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e R

(1) FIHE H afm (2) HTEHD arrefaE

(3) wdEy 3 ©(4) PETEE
187. Inferns, the xylemis:

{1} Exarch {2} Mesarch {3} Endarch (4) Palyarch

Gy I B ©

(1) TS (2) forma (3) TEI@ (4) diciian®
188, Lycopodium is commonly known as :

(1) Horse tail (2} Club moss (3) Quill wort (4) Stone wort

g U T S i 8!

(1) & 2o (2) Fd "N @) faa =€ (4) W a2
189. Pollination in cycas takes place through : |

(1) Ant (2) Water (3) Bat {4) Air

g i o A ¥

(1) el gr (2) T ER () TFTeS gX (4) FEN
190. During meiosis, crossing over takes place at

(1) Leptotene stage (2) Zygotene stage

(3} Pachytere stage (4) Diplotene stage

H$ﬁﬁﬂmﬁ$wmﬁﬁmmﬁﬁm%:

(1) TrIEA TR 7 (2) WEEd Al #

(3) ¥ERA aygen ¥ (4) R wawen ¥
191, Primary precursor of L ALA.is:

(1) Tryptophan (2) Tyrosine (3) Leucine (4) Methionine

[ AL A &1 TR Sonif

(1) fre (2) fe¥ (3) oH (4)
182. {ink petween Glycolysis and Kreb's cycle is:

1y Citric acid (2) Suecinic acid

(3) Acetyl Co-A

i4) Fumaric acid

(42)



